APPENDIX D

An alternative method to analyze the resolution of the WTA
An alternative method to analyze the resolution of the Winner-Takes-All cell. In the
following analysis, transistor M1 represents the transistor M4, transistor M2

represents the transistor M3 and transistor M3 represents the transistor M5 in Figure
3.3.1.
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Drain current of transistor M2 is
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Drain current of transistor M2 can be expressed as follows too:
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Thus, cell input current can be expressed as
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Standard deviation of input current with respect to random variables 1, 32, B3,
Vrpamn), Vrewz) and Vnous) can be expressed as follows:
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Thus, relative input current error (precision) is
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